= AH O
N = 0 &8 AF S & Al A
20113 20lah LEHSH SXAML ~ S0t
2 SR
Mz M =EXSA
SRl HOHOI MEOIHXIZ (oA
- _ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
S XA 30,527,728 28,655,580 1,872,148
= 15,924,927
= 759,726
< 4,600,887
= 9,242,188
Moo =Xsx 4,188,882 4,197,077 8,195
= 1,330,253
= 105,842
< 1,178,886
iy 1,573,901
ool Mot II2 1,361,428 1,417,571 N56,143
= 948,592
< 2,400
= 410,436
ZHOHQ! oI 2HIXI 50,955 36,183 14,772
= 40,764
o 10, 191
301 LEtEAS 50,955 36,183 14,772
= 40,764
o 10, 191
I RN=IPSESES = 50,955 36,183 14,772
0 ZOHQ! 22 HI(53H) 50,955
= 40,764
= 10,191
ZHOH QI KA BHH| X 5,303 5,303 0
=2 4,243
= 1,060
301 et A= 5,303 5,303 0
= 4,243
iy 1,060
01 AIIBEE 6= 5,303 5,303 0
0 ZOHQIKHH SHHIXIR (99) 5,303
= 4,243
= 1,060
HOoHol SEEHHIXS 200 200 0
= 100
= 100
301 Yt A2 200 200 0
=2 100
o 100
01 AISIBEE 6= 200 200 0
0 ZOHQISE XCHHIXI (10¥) 200
= 100
= 100
QI BRI R ALY 3,660 3,660 0
= 2,928
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301 LB A 3,660 3,660
= 2,928
2 732
01 ASIBEE 263 3,660 3,660
0 ZOHQl BEI|T W (24H) 3,660
= 2,928
2 732
VRSN 833,027 814,689
= 583, 119
2 249,908
301 LPB A 833,027 814,689
=2 583,119
2 249,908
01 AtSIREE 263 833,027 814,689
0 BOH4E(1,5129) 833,027
= 583, 119
2 249,908
ZOHQIBOIAIL o MUK 4,800 4,800
= 2,400
2 2,400
301 LPBAI 4,800 4,800
= 2,400
2 2,400
01 AIBIREE 253 4,800 4,800
0 FAOIFONO A HEIISZ(1Y) 600
= 300
2 300
0 HAIOHO ISYAMSRZ K& 4,200
= 2,100
2 2,100
Dol BET 2YHl N 10,000 13,372
307 QIO 10,000 10,000
RIEEPEES 10,000 10,000
0 BOHIBZT 22/l X 10,000
ROHQIHD XD 453,483 453,483
= 317,438
2 136,045
301 LB A 453,483 453,483
= 317,438
2 136,045
NI EEEERSTE 453,483 453,483
0 BOHHS(671%) 453,483
= 317,433
2 136,045
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= 33,842
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FOE SHEOC THItS AL AHIE4 1,800 7,200 A5,400
301 et ag 1,800 7,200 A5,400
10 HAAHIZ &3 1,800 7,200 A5,400
0 MHOtS A AdI24  150,0008 » 1H « 123 1,800
ZOH0LE R RFRu= 6,000 6,000 0
307 QI2t0IA 6,000 6,000 0
10 AtaI=XIExX 6,000 6,000 0
0 ZO0HOIE #Et 22 u=s X
20,000 * 300¢ 6,000
ZoHerele At 20,000 20,000 0
307 QI12t0I & 20,000 20,000 0
10 At2ISXEX 20,000 20,000 0
0 Zojelel & AL 20,000
STHHY 8SEHU ¥ ds222 B 6,780 6,780 0
L= 3,390
= 3,390
301 Ypt8aag 6,180 6,180 0
L= 3,090
i 3,090
01 MBIEEH=0dl= 6,180 6,180 0
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& 2,090
i 2,090
0 SSHM ISEMOU ES(NASUWHRIN2
ZoH1e) 2,000
& 1,000
i 1,000
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= 300
10 AtaIZ2XE X 600 600 0
0 ESZEM HS2I22 E=(10Y) 600
L= 300
s 300
HEZe Jisd=t 5,600 5,600 0
& 2,800
= 2,800
301 EtE2A = 1,600 1,600 0
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Cel ZHAAZE2ESEH (Ete: 2

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

307 2l

N
)
2

20,000 18,000 2,000

10 At 2= 20,000 0 20,000

EHAHEA AESS (10, 20) 20,000

o
J

0
ZOHQI =X LXtelAL 34,452 25,018 9,434
17,226
8,613
8,613

H

307 21z2told 34,452 25,018 9,434
17,226
8,613
8,613

MM

10 At2ISXEX 34,452 25,018 9,434
0 ZoHel LXtel X (18Y) 34,452
17,226

8,613
8,613

H M

ZOH ==X E =<0 133,380 91,482 41,898
66,690

33,345
33,345

W

101 1A 4] 133,380 91,482 41,898
66,690
33,345
33,345

H W

04 JIAHZZ2NHESE= 133,380 91,482 41,898
0 FOXXMEH SR0IXA(12E) 133,380

66,690

33,345

33,345

MW

SHs FMHUE<0l BHXIXIZ 52,153 95,756 A43,603

15,646
36,507

EUNCH

101 1A 4] 52,153 95,756 A43,603

15,646
36,507

Mk

04 JIZHMIZ2XNSE = 52,153 95,756 A43,603
Hel= <0l BHXI(4Z) 52,153
15,646

36,507

Ml 1

ZOH A 2 SE XX 232,733 219,178 13,555
162,913
23,273
46,547

M

307 21z2tol A 232,733 219,178 13,555

162,913
23,273

W




SA:
= EIEPNEF
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U AZ 2SEE

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
= 46,547
10 AEI=XEX 232,733 219,178 13,565
0 KO BE2E XIH(33Y) 232,733
= 162,913
[ 23,273
2 46,547
A OHRl 2H X 37,950 58,270 A20,320
201 Lt 24,750 26,950 2,200
01 AtE22|Hl 19,750 21,950 22,200
0 LEr2Y| 19,750
02 S22 5,000 5,000 0
0 ALBIZXIAIE ZHIS X 5,000
202 ol 13,200 16,320 3,120
01 ZLHOIHI 13,200 16,320 A3,120
0 2L HI 170,000 = 59 * 12& 10,200
0 Zt2l0iH| 50,0002 * 5% * 128 3,000
Z0Hel AZMA, WA 18,750 18,000 750
201 et 6,750 7,500 AT50
01 ArR22lH 6,750 7,500 AT50
0 ZOoHQl2ted A& 6,750
203 HRF&H| 3,000 3,000 0
03 AlZ=XAREY 3,000 3,000 0
0 AFBIER AIHAREX 3,000
301 LEtEAS 4,000 4,000 0
10 EALAHIZEAS 4,000 4,000 0
0 ZBEEMY MU o224
0,0009! * 100% 2,000
0 AIZZEONQ SXIE0le & HIt2d
20,0008 * 100% 2,000
307 212t01& 5,000 3,500 1,500
10 ABIEREX 5,000 3,500 1,500
0 AIZHZEO0HQ! StAH==ATHEl XI&
20,0008 * 250% 5,000
H0ots RIOlusa 70,000 70,000 0
307 212t01& 70,000 70,000 0
10 ABI=EREX 70,000 70,000 0
0 ZOHOtS ZIIDSA 2 (1H2L) 70,000
ZOHRlA R SHE 22 93,000 93,000 0
s 33,842
[ 6,800
=

52,358




A =X
XNz HOIIEZ2REA
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ool HAMIBESRY (Etel: &8
_ _ SIEN
N33 S2(3H) - MEAMY - BES Aol Ol AF o8 BlusZ
307 BI2t0IA 93,000 93,000 0
= 33,842
= 6,800
= 52,358
10 ASI=S XIS X 93,000 93,000 0
0 ZOHQl MRSHESY(1HA) 93,000
= 33,842
= 6,800
= 52,358
AZ XHZOHR BoAlL XNAME 2 30,000 30,000 0
= 9,000
= 21,000
307 BI2t0|H 30,000 30,000 0
= 9,000
= 21,000
10 ASI =SR2 X 30,000 30,000 0
0 ZOHQIBOIAE RAMESY(1HA) 30,000
= 9,000
= 21,000
sSHBES 64,915 66,015 A1,100
307 BI2t0IA 64,915 66,015 A1,100
03 ABIEHAIE X3 64,915 66,015 A1,100
0 XIMEOHOIES ctS2X 8l 22,275
0 SISZHAEH &3 9,100
0 AIEEOHOIE S StS2X 8l 8,100
0 hEt-2lsl StS2 s 25,440
AMZLHSDl By 2o 30,300 15,000 15,300
307 QI2H0IH 19,500 15,000 4,500
10 AtSI=RIE X 19,500 15,000 4,500
0 AFZLIFDl el 29 (13002) 19,500
402 QIEXHZO0IH 10,800 0 10,800
01 QIAREEE 10,800 0 10,800
0 AFZILISOI Bels D101 (120 ) 10,800
FOH OF = TH & XI 2 A S 38,760 52,326 13,566
= 27,132
= 5,814
= 5,814
307 BI2t0IA 38,760 52,326 A 13,566
= 27,132
= 5,814
= 5,814
[IPNEEINEES 38,760 52,326 A 13,566
0 ZOHOIS MHEXISA(37Y) 33,760
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SNBSS - MEAY - BES 01l &k o e HlnE2
= 27,132
& 5,814
= 5,814
MEISXAEAAHS T 0NN L Kl X & 6,056 6,056 0
& 3,028
i 3,028
307 212t01H 6,056 6,056 0
& 3,028
= 3,028
10 AtsI=S X2 X 6,056 6,056 0
0 MSISXAIZHAE ZoHelXtel&E(4Y) 6,056
& 3,028
= 3,028
HOHOISHAHEE XS 3,600 3,600 0
= 2,520
L= 540
= 540
307 212t01& 3,600 3,600 0
= 2,520
= 540
= 540
10 AtaI=SXE X 3,600 3,600 0
0 ZoHots AL LA (3Y) 3,600
= 2,520
= 540
i 540
AMAZHAAFRHLE 4,000 0 4,000
307 212t01& 4,000 0 4,000
10 AlRISXEX 4,000 0 4,000
0 AIZEONQ 2REUS(1HL) 4,000
Ze M2=2Y 29 36,000 0 36,000
307 QI2t0IA 36,000 0 36,000
10 AlRISXEX 36,000 0 36,000
0 ZoHe MEBISSY 2F(1HL) 36,000
A2E A ZEOHCFOFARIHA AL 61,600 0 61,600
= 49,280
= 12,320
101 el H| 61,600 0 61,600
= 49,280
= 12,320
04 JIZtHIZ2E2EE S 61,600 0 61,600
0 B=2Y AZZ0H CHOrAF M AN (4F) 61,600
= 49,280
= 12,320
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_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o Hnz2
ZOHISXIAIL 2el2SYX 22,121 0 22,121

307 QI2H0IH 22,121 0 22,121
I EPEES 22,121 0 22,121
0 S2UXE U MBESAA ZH RNl (310 7,000
0 AIZFOHQIE HOHS SHSAAX HE(128]) 3,000
0 0N S2INBA U MM e2YR
2(1) 12, 121
ABIETIAE 29 1,597,048 1,664,569 £67,521
= 35,000
= 72,000
= 1,003,225
2 486,823
DO MBAL 29 1,128,088 1,120,884 7,204
= 843,785
2 284,303
307 Q201 H 1,128,088 1,120,884 7,204
= 843,785
2 284,303
10 MEI=X2X 1,128,088 1,120,884 7,204
0 HOHQIMEBAL SYXA(1H4) 1,118,962
= 839,222
2 279,740
0 MONQIMBAL BER OF2t4SH(58) 9,126
= 4,563
2 4,563
ABIZ XAl AKX & 127,600 327,600 A200,000
= 63,800
2 63,800
307 QI2H0IH 127,600 327,600 A200,000
= 63,800
2 63,800
10 MBI=X2X 127,600 327,600 200,000
0 AHBIZTIAIE SARXI (30) 127,600
= 63,800
2 63,800
MBIZTIAE +BR2 6,360 22,673 £16,313
= 2,140
2 4,220
301 YB3 6,360 22,673 £16,313
= 2,140
2 4,220
NIEEEERTE 6,360 22,673 £16,313
0 ASIZXIAIE ST SAIHI(58%) 5,200
= 1,560
2 3,640




A =X
g Fojesxsd
R ARI=EXAE 29 (98

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

0 MSIZXAIE =EX EH2AHI(58Y) 580
290
290
0 MBIZEXAIE =EX EH2AHI(58Y) 580
290
290

EURE

U

A2 S XSRS AL A3 15,000 0 15,000

307 2120l & 15,000 0 15,000

10 At2ISXEX 15,000 0 15,000
0 At SXISAHA HE 3 15,000

HOHQMEAE SEAY 70,000 193,412 N123,412
35,000
17,500
17,500

M

401 AEHIZ RO 70,000 193,412 N123,412
35,000
17,500
17,500

H M

01 Al£Hl 70,000 192,020 A122,020
0 ZOHQIMEAIL JISEBZ(1HL) 70,000
35,000

17,500
17,500

W

I =otSSHHH 2 150,000 0 150,000
72,000
6,000
72,000

M 1AL

307 2120l & 150,000 0 150,000
72,000
6,000
72,000

M H1 MO

150,000 0 150,000
3 SAHH 2G(1HA) 150,000
72,000

6,000
72,000

>
S
o o
N
0 >
2
o b

M H1 AD

el FUHESAE 29Y 100,000 0 100,000
70,000
30,000

U

307 2120l & 100,000 0 100,000

70,000
30,000

EURGH

10 At2ISXEX 100,000 0 100,000

0 &OjQl F2ABSAE 2H(1IL) 100,000
70,000
30,000

M
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ZOHIAIE IR & AL 71,800 53,000 18,800
20,900
13,450
37,450
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ZOHAEHOAAL B 20,000 5,000 15,000

401 AIEHIZ 20U

20,000

5,000

15,000

01 Al£Hl

0 ZOHQIEAAIL E=(1501A)

20,000
20,000

5,000

15,000

SHEZ A F=EHINZAL

H

41,800
20,900
10,450
10,450

38,000

3,800

402 2IZ2tt=0lA

W

41,800
20,900
10,450
10,450

38,000

3,800

OHQ! Z=EONZ AR (T1AICH)

W

41,800
41,800

20,900
10,450
10,450

38,000

3,800

Mk

10,000

3,000
7,000

10,000

402 2IZ2tt=0ld

U

10,000

3,000
7,000

10,000

01 2IZEXIEE X
el

FHEZE HE AL (2HITH)

U

10,000

10,000

3,000
7,000

10,000

A H A

18,967,706
12,204,621
416,844
2,001,989
4,344,252

17,525,448

1,442,258

W

1,329,800
478,852
254,289
596,659

1,340,600

A 10,800

H W

646,250
323,124
161,563
161,563

635,250

11,000

101 el 24|

H

542,239
271,119

542,239
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= 135,560
04 JIZtHIZ2Z2SES 542,239 542,239 0
0 LolUXIeI ALY 400 ) 542,239
= 271,119
[= 135,560
= 135,560
307 QIzto|A 89,011 78,011 11,000
= 44,505
[= 22,253
= 22,253
10 MBIEXEX 89,011 78,011 11,000
0 S22 (16H 36,000
= 18,000
[= 9,000
= 9,000
0 == HOI(35Y) 53,011
= 26,505
[= 13,253
= 13,253
401 Al&HI LS 15,000 15,000 0
= 7,500
[= 3,750
= 3,750
03 A& =2CHHI 15,000 15,000 0
0 LQIXI2IAtY & 15,000
= 7,500
[= 3,750
= 3,750
HHOIY AL BB A 25,500 25,500 0
301 LB A2 25,500 25,500 0
12 JIEIB A= 25,500 25,500 0
0 OlHOlY &AL &A 1300 4) 20,000
0 OHOlY S8Xt ey
50,0002 * 50 2,500
0 2= QlAAA X 50,0002 * 60 3,000
COIRSG 2 L0l Y SHAINE Batb 29,650 29,650 0
301 et A= 3,650 3,650 0
12 JIEtE A2 3,650 3,650 0
0 Lolo & & & 900
0 95MI0IAF &L = 2,750
307 QI2to|A 26,000 26,000 0
04 BIZtHAIE = 20,000 20,000 0
0 Lolo 4 Hzt3 FOHZE 24 20,000
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7,920
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170,000& = 3¢
50,000& * 3%

7,920
6,120
1,800

12,240

A4,320

AU DAT HAWKHl XA (15%)

Ml H1

7,200

3,600
3,600

7,200

U

7,200

3,600
3,600

7,200

480,000& * 15€&

Mk

7,200
7,200

3,600
3,600

7,200

Ml 1

240,850

69,660
171,190

234,250

6,600

206 M=l

U

52,950

26,475
26,475

52,950

01 M=Hl

0 SHLEQIOHAX

|20l At (5259 )

EURCH

52,950
52,950

26,475
26,475

52,950

Ml 1

59,550

17,865
41,685

59,550

M H1

Ml 1

59,550
59,550

42,000
12,600
29,400
17,550

5,265
12,285

59,550

307 GI12t0ld

EURCH

128,350

25,320
103,030

65,750

62,600

EURCH

128,350
128,350

6,500

1,500
5,000

14,400

65,750

62,600
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SN EHH L OR(BH) - HRAY - BYS Of) & o il i~ o HRs2
< 2,880
2 1,520
o RRAZALNA (S D) 39,000
= 15,600
2 23,400
o LOIPC(QIE W) DS 5,850
= 2,340
2 3,510
o OGS THE BPCE S (162044 ) 62,600
= 3,000
2 59,600
HAS o Ro/gt0l XA 12,624,811 12,097, 126 527,685
=2 11,288,493
2 28,416
= 268,569
2 1,039,313
22Ag 29| 93,900 93,900 0
307 212H0I 93,900 93,900 0
NIEESEES 93,900 93,900 0
0 FZAY(SH)2 I
1,5008 * 3138 * 200 93,900
H A S THOHe Q1 AL AHHH S Al 2 38,400 38,400 0
= 28,416
2 9,984
307 212H0I 38,400 38,400 0
2 28,416
2 9,984
NIEEEES 38,400 38,400 0
0 T OF A AL B 2 (1202) 38,400
= 28,416
2 9,984
Mol Zerm s 10,000 10,000 0
401 AISHIL L] 10,000 10,000 0
01 Al 10,000 10,000 0
0 AIRHOl e (210t7) 10,000
COlS LIS A 509,755 509,755 0
= 407,805
& 50,975
2 50,975
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